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Which of the following statement(s) is/are false

regarding P waves ?

(a) P waves are longitudinal waves.

(b) These waves can also propagate through gas.

(c) The speed of these waves is more than S waves
but less than L waves.

(d) P waves are also called primary waves.

Whichofthefollowingstatementsistrueregarding
S waves ?

(a) These waves are transverse waves.

(b) These waves cannot pass through liquids.

(¢c) These are also called secondary waves.

(d) All of the above

Whichofthefollowingstatementsistrueregarding

L waves ?

1. This wave propagates only in the surface part
of theearth.

2. Thiswavepushesinazig-zag manner.

3. The speed of vibration of these waves is the
highest.

(@) 1and3

(h) 1and?2

(¢) 2and3

(d) 1,2and3

Match List-I with List-II and select the correct
answer using the codes given below the lists:

List-I List-II
A. Japan 1.  Etna
B. Hawaii 2. Laki
C. Sicily 3.  Monaloa
D. Iceland 4. Fujiyama
Code:
A B C D
(a) 1 2 3 4
(b) 4 3 2 1
(c) 4 3 1 2
(d) 3 4 1 2
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Consider the following statements about

earthquake—

1. In an earthquake, shocks originate at one
point which is called the epicentre.

2. The origin point of the impact may be inside
the crust or mantle.

3. Relatively more earthquake prone areas are
found onthetectonic plate boundary.
Which of the
correct ?

(@) 1,2and3

(b)) 1and?2

(¢) 1and3

(d) 2and3

above statements are

Which of the following is an example of a rift valley ?
(a) Dead Valley

(b) Gulf of Spencer

(¢) Narmada Valley

(d) All of the above

What will be the correct order of the following
lakes located in the Great Rift Valley of Africa
from north to south ?

1. Albert

2. Nyasa

3. Tanganyika

4. Edward

(@ 1,4,3,2

b) 4,1,3,2

(c) 1,3,4,2

(d 4,3,1,2

Arrange the following substances obtained from
the volcano in the order of increasing size:

1. Volcanic Bomb

2. Lapilli

3. Scoria

(@ 1,2,3

(b) 1,3,2

(c) 2,31

(d 2,13
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Which of the following statements is false ?

(a) The line joining places with similar damage due
to earthquake is called isoseismal line.

(b) The the
regular.

shape of isoseismal line is
(¢c) The line joining the places where earthquakes

occur simultaneously is called homoseismal line.
(d) The instrument which records seismic waves is

called seismograph.

The common processes of erosion by wind are—
(a) Friction and attrition

(b) Friction and solution

(¢) Friction and transportation

(d) none of these

The specific landforms related to the old age of
the general erosion cycle are—

(a) River meanders, flood plains and Monadnock
(b) Flat plains, delta and monadnock

(¢) Flood plains, deltas and structural steps

(d) Flood plains, deltas and questas

What
weathering and physical weathering ?

is the difference between chemical

(a) Chemical weathering occurs only in equatorial
regions, whereas physical weathering occurs
only in cold and hot deserts.

(b) In chemical weathering there is a change in the
size of the particles, whereas in physical
weathering this does not happen.

(¢) In physical weathering the shape of rocks
changes, whereas in chemical weathering this
does not happen.

(d) In chemical weathering there is a change in the
chemical composition of the particles, whereas
does not happen in physical weathering.

The process of exfoliation generally occurs in
those regions where —

(@) Annual temperature variation is greater

(b) Temperature remains high throughout the year
(¢c) Temperature remains low throughout the year
(d) Daily temperature variation is greater
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Match List-I with List-II and select the correct
answer using the codes given below the lists:

List-1 List-II
(Rivers) (Shape of Delta )
A. HwangHo 1 Arcuate
B. Mississippi 2. Bird Foot
C. Niger 3. Estuarine
D. Susquehanna 4 Discarded
Code:
A B C D
(a) 4 2 1 3
(b) 4 2 3 1
(c) 2 4 3 1
(d) 2 4 1 3

Which of the following statement(s)is/are correct

about Fjord ?

1. Most of the fjords were formed due to the rise
of the sea level after the melting of the ice
sheets of the veryrecentera.

2. It is a raised bank which was originally a
submerged glacial valley.

3. It is a long, narrow entrance to the sea
surrounded by steep mountain slopes that
extendtoagreat depth.

4. Itisaglacial valley that has been inundated by
the sea and forms a deep and steeply sloping

coastalinlet.
(@ 1,2,3and 4 (b) 1,3and 4
(b) 2and4 (d) 1,2and3

Match List-I with List-II and select the correct
answer using the codes given below the lists:

List-I List-II
A. Wind-blown 1 Blind valleys
B. Glacial 2 Barkhan
C. Karst 3. Paternoster Lake
D. Seawaves 4 Hanging Valley

Code:

A B C D

(@) 1 2 3 4
(b) 2 1 4 3
(c) 1 4 2 3
(d) 2 3 1 4
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The process of erosion by glacier, in which the
water at the bottom of the glacier freezes after
entering the joints and cracks of the rocks and
breakstherockswhentheglaciermoves,iscalled—
(a) abrasion

(b) corrosion

(c) plucking

(d) friction

Which of the following topography is formed by
wind erosion ?

1. Seif

2. Inselberg

3. EarthPillar

4. Zugen
Code:

(@) Only 3 and 4

(b) Only 2, 3 and 4
(c) Only1,3and 4
(d) All of the above

If the layers of soft and hard rocks in desert
areas are in vertical direction, then which of the
following topography is likely to be formed by the
action of wind erosion ?

(a) Zugen

(b) Yardang

(¢) mortar

(d) All of the above

The mostimportant processinocean wave erosionis—
(a) abrasion

(b) corrosion

(c) water pressure action

(d) water movement process

Consider the following statements:

1. The radial force lead to the epeirogenetic
movements in earth plates.

2. Eurasianplateismadeonlyof thecontinental crust.
Which of the above statements is/are correct ?

(@) 1only

(b) 2 only

(¢) Both1and 2

(d) Neither 1 nor 2
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Consider the following statements:

1. Ocean crust is denser than the continental
crust.

2. Oceanic crust is made up of granitic rocks
whose composition issilicon and aluminium.

3. Graniticrocksarelighter in colour thanbasaltic.

4. Crustextendsupto 70 km under mountains, in
contrast to oceanic crust, which are about 5
kmthick.
Which of the above statements are true ?

(@) 1,3 and4

(b)) 1,2and4

(¢c) 2,3and 4

(d) 1,2,3and 4

Lithosphereisconstituted of whichofthefollowing ?

1. Continental crust

2. Oceaniccrust

3. Uppersolid part of mantle

4. Upperliquid part of mantle

Select the correctanswerfrom the codes given below.
Codes:

(@) 2and3

(b) 1,2 and3

(c) 1,2and 4

(d) 3and4

Which of the following are incorrect ?

1. Asthenospherelies below lithosphere

2. Asthenosphere is also called as low-velocity
layer

3. The continental plates move over the solid
asthenosphere according to the plate tectonics

4. Alfred Wegner laid the foundation for the
theory of plate-tectonics through his theory

5. Alfred Wegner propounded the theory of plate
tectonics

Select the correctanswer from the codes given below.
Codes:

(@) 3and4

(b) 3and5

(c) 2,3and5

(d) 4and?2




Q 25.

Q 26.

Q 27.

Q 28.

-3 1T § Wb Heayut & Fiifeh o
Frafafeaa & 9 fea faammerd wen = far
THFRAE?
1. ege

2. TARER S RaEEe

3. A RO &ifet IR e H ke
AT R AT W |
e

@ 1,233

() 3 had

(© 13R2

@ 13R3

ITsh G A Tl o faeeT gt e

1. AOEEH AR

2. e 398"

3. AT
AR R AT ST |
e

@ 13R2

b) 133

© 1,23R3

)
2. AR T IS BT oo STt BTl
3. IR TRIEA R IR SIS ( 3T9eer )
4. UATISAYESHI I G Sd BT
HE:
@ 13K
() 133
(© 2313
@ 2,334

TTH I ATUET HT FNEH TE & ?
ot UK

Ty
:

(@) 1only

() 2and4
(¢) 2and3
(d)  4only

Q 25.

Q 26.

Q27.

Q 28.

Earthquakes are important in landform studies

because they can trigger catastrophic events

like

1. Landslides

2. Glaciersurges

3. Tsunamiscausing damageandshorelinechanges

Select the correctanswerfrom the codes given below.
Codes:

(@) 1,2and3

(b) 3 only

(c) 1and?2

(d) 1and3

Rock disintegration in arid areas are due

1. temperaturechanges

2. chemical weathering

3. pressurereleasemechanism

Select the correctanswerfrom the codes given below.
Codes:

(@) 1and?2

(b)) 1and3

(¢c) 1,2and3

(d) 3 only

Whichofthesewouldbecalledchemicalweathering ?
1. Fragmentation of rocks in deserts
2. Dissolving of limestonerocks inrain water
3. Exfoliation ongraniterocks.
4. Fragmentationof rocksduetofrost
Codes:
(@) 1and?2
(b)) 1and3
(¢c) 2and3
(d) 2,3and4

Which of these is not an agent of erosion ?
1. Seawaves

2. Rainwater

3. Strongwind

4. HotSun

Code:
(a) 1only

(b)) 2and4
(¢) 2and3
(d) 4 only
09
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Q29.

Q 30.

Whyisphysical weathering predominantin hotdeserts ?

1
2
3.
4

(@)
(b)
(©
(d)

Duetolack of trees and plants.

. Duetolack of humidair

Duetohighdaily temperature variation.
Duetoair movement
Codes:

1and 2

2and 3

3and 4

1and 4

Where doeschemical weathering notslow
down ?

1.

2
3.
4

(@)
(b)
(©
(d)

Inhotandhumidarea

. Intemperatezone

Inthepolarregion.

. inlimestoneregions

Codes:
Tand 2
2 and 3
3and 4
1and 4




